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حِيمِ   نِ ٱلرَّ حْم  َّٰ هِ ٱلرَّ َّٰ 
َّ
 بِسْمِ ٱلل

 

Lesson 80 
 

The Conditions of ‘  المبتدأ الوصف’ 
 

 

The Conditions of ‘  المبتدأ الوصف’: 

• When the ‘مبتدا’ is a ‘صفة’, it must be preceded by an interrogative or a 

negation particle such as:  

 «أقائم الزیدان؟»

 «ما قائم الزیدان»

• The ‘فاعل’ or ‘نائب الفاعل’ of the ‘  المبتدأ الوصف’ must be a noun ( الاسم

 .’أقائم أنتما؟‘ such as in ,(الضمیر المنفصل) or a separate pronoun (الظاهر

• The statement must get complete with the ‘فاعل’; otherwise, it cannot 

replace the ‘  خی’ and the ‘صفة’ cannot be the ‘مبتدا’; such as in ‘؟
ٌ
 ’أقائم ابواه زید

In ‘؟
ٌ
 to which the ’زید‘ the statement would not be complete without ,’أقائم ابواه زید

pronoun ‘ابواه’ refers. Therefore, ‘زید’ is a delayed ‘مبتدا’ and ‘قائم’ is an early ‘  خی’. 

Also, in ‘  ماا 
ٌ
 قاائمٌ لا لا قااعاد

ٌ
زیاد  is an ’فااعال‘ because its ’المبتادا الوصااااااااااااااف  ‘ is not a ’قااعاد‘ ,’

assumed connected pronoun. 

 


